]
B Model: VOWS001
LAB

Internal

€ v & 9

[A

I

e

0

III||llll|I|Il[lIIIIIIII|IIII|IIII|illllllII|IlllllﬂlllllllIlllllllllll||l|ll,l||l|llll,llll]”
3 4 5 6 7 8 9

¢ L v 9 .9

\nnlu||’||||hn|\||||I||u|||uin||‘|||||||n‘||||lnulu

I

0

IllII|IIIIIIIII|I|II||||||IIII||I|I|III|‘IIII|IIII|IﬂI|IIII|IIII|IIII|lIII||||||Il|||II
2 3NASSHCETINS

O




]
B Model: VOWS001
LAB

r =3 T — A E

> A
0 1 22388

W=

-t

QE A Tt

o T

01 2 3 4




]
B Model: VOWS001
LAB

Il ¢

0

.0.

3 il

n||nu|m|m||m|nui‘lm‘§ﬂu
0 1 2388




